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O=k|f=kl/kq ;+VofM– $@% ldlt M– @)^#÷!@÷!! 
 
 
Ohfhtkqk|fKt æsÆ ju{sf -a}+s_ ;+:yfx¿ . 
 
 
     ljifo M– clu|d ljlgdo b/ ;DaGwL . 
 

dxfzo, 

 kl/jTo{ ljb]zL d'b|fx¿sf] ljlgdo b/x¿df x'g;Sg] yk36sf] kl/k|]Ifdf g]kfnL 
cfoftstf{ tyf lgof{tstf{x¿nfO{ clu|d ljlgdosf] ;'ljwf pknAw u/fpg] ;Gbe{df lgDg 
lnlvt Joj:yf cGtu{t /xL ;a} a}+sx¿nfO{ clu|d ljlgdo sf/f]jf/ ug{ ljb]zL ljlgdo        
-lgoldt ug]{_ P]g, @)!( -;+zf]wg ;lxt_ sf] bkmf–!@ n] lbPsf] clwsf/ k|of]u u/L of] kl/kq 
hf/L ul/Psf] 5 . 

!= clu|d ljlgdo b/ (Forward Exchange Rate) sf] lgwf{/0f ;DalGwt a}+sx¿ cf–cfkm\n] 
ug'{kg]{5 . o;/L clu|d ljlgdo b/ lgwf{/0f ubf{ ;fdfGotof g]kfnL ?k}+ofF / ;DalGwt 
ljb]zL d'b|fsf] Jofh b/sf] leGgtfsf] cfwf/df ug'{kg]{5 . 

@= clu|d ljlgdo sf/f]jf/ ubf{ cfoftstf{ jf lgof{tstf{sf] Valid k|tLtkq;Fu Tie-up u/]/ 
dfq ug'{kg]{5 . 

#= o;k|sf/ ul/Psf] clu|d ljlgdo sf/f]jf/sf] Cover g]kfn /fi6« a}+sdfkm{t k|fKt x'g] 5}g 
cyf{t\ o;af6 x'g;Sg] nfexfgL b'j} ;DalGwt a}+sn] g} Aoxf]g'{ kg]{5 . 

$= o:tf] sf/f]jf/sf] nflu a}+sx?;Fu g]kfnL ?k}+ofFsf] cefj x'g;Sg] ;DefjgfnfO{ b[li6ut u/L 
lgDg jdf]lhd ljb]zL d'b|fsf] Swap ;'ljwf pknAw u/fOg] 5 M 

-s_ a}+sx¿n] o; a}+snfO{ Spot Basis df ljb]zL d'b|f laqmL u/L plNnlvt Future 

Date df ;f]xL ljlgdo b/df pQm ljb]zL d'b|f vl/b ug{ ;lsg]5 . a}+sn] o; 
jfkt lgwf{l/t Swap Charge e'QmfgL ug'{kg]{5 . o:tf] Charge lgwf{/0f ubf{ 
g]kfnL ?k}+ofF / cd]l/sL 8n/sf] k|rlnt Jofh b/sf] leGgtfsf] cfwf/df ul/g]5 . 

-v_ o; k|sf/sf] k|To]s Swap ;'ljwf a9Ldf # dlxgfsf] nflu dfq x'g]5 / 
cfjZostfg';f/ csf]{ cjlwsf] nflu gljs/0f ug{ ;lsg]5 . 

-u_ of] ;'ljwf cGtu{t o; a}+snfO{ ljb]zL d'b|f ljqmL ubf{ s] slt cjlwleq ;f] /sd 
k'gM v/Lb ug]{ xf] :ki6 ug'{kg]{5 . 
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-3_ o; ;'ljwf cGtu{t g]kfn /fi6« a}+s;Fu x'g] sf/f]jf/sf] Go"gtd /sd cd]l/sL 
8n/ ! nfv / o;eGbf a9Lsf] xsdf cd]l/sL 8n/ %) xhf/sf] u'0ff° 
(Multiples) lgwf{/0f ul/Psf] 5 . 

-ª_ o; ;'ljwf k|of]u ubf{ ;+nUg 9fFrf jdf]lhd lgj]bg ug'{kg]{5 . 
 
  ejbLo, 

   
  -/fdhL /]UdL_ 
  sf=d'=sfo{sf/L lgb]{zs 
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-O=k|f= kl/kq ;+Vof– $@% k|of]hgsf] nflu_ 
 
 

bkmf g+= $-ª_ df pNn]lvt gd"gf . 
 
ldlt vl/b÷ljqmL /sd sG6«}S6 /]6 sG6«}S6 lkl/o8 k|tLtkq g+= s}lkmot

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

      

 


